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OUTCOME R2 R3 R4 R5 — Review

1. Given the following graphs, perform each of the following transformations. Also

answer the provided questions.
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a)y=sg(-x+4) -1
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i) Describe the transformation in

words.

> Vevhioal Shvedch by o faetor of 4

> ebleck over e Y-S

Ly Shikk 4 wids vight »

> shifd | vnit down
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ii) Provide the mapping notation

(X Y) > (—xr4, 2Yy-1)

i) Domain and Range of g(x) and y = ig(—x +4)-1
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b) y = 3n(2(x +5)) — 2

i) Describe the transformation in
words.

> Verkical Shekeh by a
fachy of 3
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> Horizowal Stretth by o fachr of 3

ls Shifk 5 vnits lefd
> Shift 2 units down

ii) Provide the mapping notation

(X\‘j ) ( 3%-5, 3y-2)

iif) Domain and Range of h(x) and y = 3h(2(x + 5)) — 2

[y=3hza+9) 2
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c)y=—f(§x+3)+2

Y= = F(S(x406)) +2

i) Describe the transformation in
words.

> Refleckon aver the Y-onis

1> Horizomal Sfretth by
& facor of 2

> Shift & uniks lef
1> shith 2 units vp

ii) Provide the mapping notation
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(x¥)> (2x-0, -y+2)

iii) Domain and Range of g(x) andy = —f Gx + 3) 42

y=-f(5x+3)+2
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2. Write the equation for the HEAVY lined graph, given the lighter lined graph is
y = fx).
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3. The graph of y = %f(x + 3) + 2 is given. Sketch the graph of y = f(x).

10+ (\/‘M)" (X'Z’ )%-5 "?’)

.?3__ v

e Yy

yErRA(xe 32

-0

-10-+

4. Describe, in words, the following transformation applied to the graph of y = f(x) if
y=3f(-x+6)—1. Y=34F(-(¢-0)) -\

Iy Verkical Stvetch by a fachor of 3
l> Reflect over dhe \-oxis

15 Shift b wnits vight

Iy shifd | wnit down

5. The point (1, 6) lies on the graph of y = —2f(x + 4) + 3. What is the original point
on the graph of y = f(x)?

(ki) (%4, -2y+3) l=y-4  (0=-24+3
5= % 3: -2\
27V

~ (1) >(5,-3z)
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6. The graph of h(x) represents a fransformation of the graph of f(x). Write the
equation for the graph of h(x) in terms of f(x).
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hix)= £(z(x-2)-1

7. The graph of g(x) represents a transformation of the graph of f(x). Write the
equation for the graph ofg(x) in terms of f(x).
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8. Describe, in words, the following transformations applied to the graph of y = f(x) if
y=—f(2(x-1)+4.

Ly peflect over dhe X-ovis
> Horizontal Sivetch by o factor of 3

b Shifd | vt vight
15 Shift 4 units vp

9. The domain of y = f(x) is —4 < x < 8 and the range is —6 < y < 12. What are the

domain and range of g(x) = if Gx)?

(x)> (2%, 34) Dowain: ~2£X =l
gtk

10. The domain of y = f(x) is [-12,18]and the range is [—-3, 6]. What are the domain
and range of g(x) = —2f(3x)?

(\Y)> (5%,-2Y) Domain :  [-4, ]
Pange - [-12, ]

11. Match the mapping with the correct transformation.

a) (x,y) - G x,y) A) vertical stretch by a factor of 4

b) (x,y) = (x,y + 4) » B) horizontal stretch by a factor of %

*C) vertical translation up 4 units

c)(x,y) > (x+4,y) <

d) (x,y) = (x,4y) " D) horizontal translation right 4 units
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12. Write the equation for each transformation of y = f(x) in the formy = af (b(x —h) + k

a) a vertical stretch by a factor of 3, reflected in the y-axis, and translated 3 units left
and 2 units down

j 3 () -2

b) a horizontal stretch by a factor of 2, reflected in the x-axis, and translated 7 units up
|
6=-¥(3X)+}

c) a horizontal stretch by a factor of i translated 5 units right and 1 unit down

' £(4(%-5)) -1

d) a vertical stretch by a factor of§ a horizontal stretch by a factor of% and reflected in
the x-axis

y=5f(2%)

13. The point (—18,12) is on the graph of y = f(x). What is the image point under
each transformation of the graph of f(x)?

a)y=f(x—-6)—8

(xg)>(x+o,y-8) ~ E1BR)> 12
b) y = 2f(6x)
(%) (5%29) (-1%12) > (=372%)

c)y=-3f(x+5)+4
(1) (%-5,-3yt4) (-1®112) > (£23,-32)

d)y=%(—3x+6)—1
Y= 2fE3(x-2) -

‘ (-1g112) > (8,5)
(‘Iu\j)” ('5“’2 1%‘5“)



